

# Subtracting Integers: Rewrite as Addition

---

Rewrite each subtraction problem as an addition problem by adding the opposite of the second integer. Then simplify when asked.

**A. Rewrite each subtraction expression as an addition expression. Do not simplify.**

1.  $9 - (-4) = \underline{\hspace{2cm}}$

3.  $-3 - (-11) = \underline{\hspace{2cm}}$

2.  $-7 - 6 = \underline{\hspace{2cm}}$

4.  $0 - (-8) = \underline{\hspace{2cm}}$

**B. Rewrite as addition, then simplify to a final integer.**

5.  $6 - (-9) = \underline{\hspace{2cm}}$

7.  $-5 - (-7) = \underline{\hspace{2cm}}$

6.  $-10 - 3 = \underline{\hspace{2cm}}$

8.  $18 - 12 = \underline{\hspace{2cm}}$

**C. Rewrite as addition, then simplify. Watch the signs carefully.**

9.  $2 - (-15) = \underline{\hspace{2cm}}$

13.  $-13 - (-21) = \underline{\hspace{2cm}}$

10.  $-16 - (-9) = \underline{\hspace{2cm}}$

14.  $7 - (-28) = \underline{\hspace{2cm}}$

11.  $-24 - 9 = \underline{\hspace{2cm}}$

15.  $-30 - (-14) = \underline{\hspace{2cm}}$

12.  $35 - (-16) = \underline{\hspace{2cm}}$

16.  $19 - 26 = \underline{\hspace{2cm}}$

# Subtracting Integers: Rewrite as Addition

---

Rewrite each subtraction problem as an addition problem by adding the opposite of the second integer. Then simplify when asked.

A. Rewrite each subtraction expression as an addition expression. Do not simplify.

$$1. \quad 9 - (-4) = \underline{9 + 4}$$

$$3. \quad -3 - (-11) = \underline{-3 + 11}$$

$$2. \quad -7 - 6 = \underline{-7 + -6}$$

$$4. \quad 0 - (-8) = \underline{0 + 8}$$

B. Rewrite as addition, then simplify to a final integer.

$$5. \quad 6 - (-9) = \underline{6 + 9 = 15}$$

$$7. \quad -5 - (-7) = \underline{2}$$

$$6. \quad -10 - 3 = \underline{-10 + -3 = -13}$$

$$8. \quad 18 - 12 = \underline{18 + -12 = 6}$$

C. Rewrite as addition, then simplify. Watch the signs carefully.

$$9. \quad 2 - (-15) = \underline{2 + 15 = 17}$$

$$13. \quad -13 - (-21) = \underline{-13 + 21 = 8}$$

$$10. \quad -16 - (-9) = \underline{-16 + 9 = -7}$$

$$14. \quad 7 - (-28) = \underline{7 + 28 = 35}$$

$$11. \quad -24 - 9 = \underline{-24 + -9 = -33}$$

$$15. \quad -30 - (-14) = \underline{-30 + 14 = -16}$$

$$12. \quad 35 - (-16) = \underline{35 + 16 = 51}$$

$$16. \quad 19 - 26 = \underline{19 + -26 = -7}$$